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for the questions

1. (a) Distinguish between Cost Accounting
: and Financial Accounting. 9

Or

(b) Calculate prime cost, factory cost, cost
of production, cost of sales and profit

from the following particulars : 9
(
Direct Materials 1,00,000
Direct Wages 30,000
Wages of Foreman 2,500
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Electric Power
Lighting :

Factory

Office
Storekeeper’s Wages
Oil and Water
Rent :

Factory

Office
Repairs and Renewals :

Factory

Office
Transfer to Reserves
Discount on Shares written off
Depreciation :

Factory

Office
Consumable Stores
Manager’s Salary
Directors’ Fees
Office Stationery
Telephone Charges
Postage and Telegrams
Salesmen’s Salaries
Travelling Expenses
Advertising

500

1,500
500
1,000
500

5,000
2,500

3,500
500
1,000
500

500
1,250
2,500
5,000
1,250

500

125

250
1,250

500
1,250
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(b)

January
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(3)

4
Warehouse Charges 500
Sales 1,89,500
Carriage Outward 375
Income Tax 10,000
Dividend 2,000

Explain the essential features of a good
wage system. 9

Or

Following is the Stores Ledger A/c of
Hallmark Ltd. :
1  Opening Balance —400 units @ 2
6 Purchased 200 units @ T3
8 Issued 300 units
10  Purchased 500 units @ ¥ 1
12  Purchased 600 units @ ¥ 2
16  Issued 400 units
20 Purchased 100 units @ ¥9
23  Issued 450 units
26 Purchased 300 units @ ¥4
28 Issued 300 units
29  Purchased 200 units @ ¥7
30 Issued 600 units

Prepare Stores Ledger A/c by First-in
First-out (FIFO) method. 9
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(4)

3. (a) Discuss the functional classification of
overhead. 9

Or
(b) The Modern Company is divided into
four departments. B, P, and P; are
producing departments and S, is a

service department. The actual costs for
a period are as follows :

v
Rent 1,000
Repairs to Plant 600
Depreciation of Plant 450
Employer’s Liability for Insurance 150
Supervision 1,500
Fire Insurance in respect of Stock 500
Power 200
Light 120
The following information is available in
. respect of the four departments :
Departments
R P, Py S
Area (sq. metres) 1500 1100 900 500
No. of Employees 20 15 10 5
Total Wages (in ) 6,000 4,000 3,000 2,000

Value of Plant (in ¥) 24,000 18,000 12,000 6,000
Value of Stock (in ¥ 15,000 9,000 6,000 L.
HP of Plant 24 18 12 6

Apportion the costs to the various
departments on the most equitable
basis. 9
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(5)

4. (a) What is contract costing? Distinguish
between job costing and contract
costing. 2+7=9

Or

(b) The following information is extracted
from the job ledger in respect of
Job No. 606 :

Materials—% 3,400
Wages :
Dept. A— 80 hours at ¥ 2 per hour
Dept. B—60 hours at ¥ 4 per hour
Variable Overheads :
Dept. A— ¥ 5,000 for 4000 direct hours
Dept. B— ¥ 6,000 for 3000 direct hours

Fixed Overhead :

¥ 7,500 for 10000 hours of normal
working time of the factory

Calculate the cost of Job No. 606 and
estimate the percentage of profit if the
price quoted is ¥4,750. 9

5. (a) Brief out the essential features of
process costing. 9
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(7)

20000 wunits have been issued to
process A at a cost of ¥10,000. The
output of each process has been as
under :

Process A—19500; Process

B —18800 and Process C—16000
There is no work-in-progress in any
process.

Prepare Process A/cs. 9

* kK
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( Marks : 25)

The figures in the margin indicate full marks for the questions

1. State whether the following statements are True (T)
or False (F) by putting a Tick (v') mark : 1x5=5

(a) Costing and Cost Accounting are the same.

| (2 B

(b) First-in first-out method of valuing material
issues is suitable in times of rising prices.

J | (T / F)

(c) Direct labour hour rate of absorption of overhead
is suitable where most of the production is done
by using machines.

(NP )
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(2)

(d) Job costing helps the management in controlling
cost by comparing the actual costs with - the
estimated costs.

¢ 7 B

(e) In process costing, ordinarily no distinction is
made between direct and indirect materials.

(T £ F)

2. Choose the correct answer and place its code in the
box provided : 1x5=5

(a) Prime cost includes

(i) Direct Material + Direct Labour + Works
Expenses

(i) Direct Material + Direct Labour +
Chargeable Expenses

(i) Direct Material + Direct Labour + Office
Overheads

(iv) None of the above

(b) In case of inflation, which of the following
methods of valuing material issues will give the
lowest profit?

(i) FIFO
(i) LIFO
(i) HIFO

(iv) Simple Average Price

CA/BC-304/70



(3)

(c) Overhead cost is the aggregate of indirect
material cost, indirect wages and

(i) direct expenses
(ii) indirect expenses

(iii) both direct expenses and indirect expenses

(iv) None of the above

‘ (d) If the amount of work certified is less than
of the contract price, then no profit should be

taken to Profit & Loss A/c.
(i) 20%
(ii)) 50%

(iii) 25%

(iv) 75%

(e) Where actual loss in a process is less than the
anticipated loss, the difference between the two

is considered to be
(i) abnormal gain
(i) abnormal loss

(i) normal loss

(iv) None of the above
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1x5=5

.................................

- COSts are partly fixed and
partly variable in relation to output.

(b) Bin card is maintained by

particular period by the .
the machine js estimated

.................................

to work during the
period.
L O costing is used in
pPrinting industry,

..............................
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(5)

4. Write on/Answer the following in 4 or 5 sentences
each : 2x5=10

fa) Opportunity cost
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(6)

(b) Economic order quantity
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(7)

(c) What is the difference between allocation and
apportionment of overheads?
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(8)

(d) What is notional profit?
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(9)

(e) What is inter-process profit?

* % ok
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